11
3% 52

@ n

63
22x3x7

@ 1.415






Hu
o

)




_.

~ B~ I~



s

Sol

L] 7 sdas epola o, [ <k

1
22 x5x7

% qhe A5 FAA 7



N A~

10 < x <20 %1 A4

=
1

stofet, (H, x

?_

O
=

ok @k -y o 2



7. Ue T egutdE AtEA 239 A2

® 0.818181--- = 18 @ 0.23434343 ... =234
@ 1.212121--- =212 @ 34.34434343--- =43

® 120.080808--- =8



T =i o2 2] F2 AL?
@ 0.363636--- = 0.36

@ 2.456456 - -- = 2.456
® 0.053053053--- = 0.053 @ 1.2777---=1.27
® 0.342342342--- = 0.349



| LIEFLY7
0.26

1o
ud

I.

otd|

oy
<H

<+
4

<+
)

| o)




2 ekl o), 244 ofel 99 WA o] SAhe?



016 & B4-2 g2 Jebd A-e2

A0

<

16
999

4
495

@

4
225



=7 (" 2 70)

ojn






grgoeleh. [ | etel

= Uel=

375
10000 — 0.0375

24 %5 x[ ]

3
24 x5

3
80

@5 ® 32 @ 52 ® 53

@ 3



<

o
B
A

<
|

<
ld

olp

@ 11 ® 15 @ 18 ® 151

@ 2



@ 274 ® 374 @ 474 ® 574




I
M
o
NS
wt

33
18



@ 1 ® 3

® 0

@ 5



o
S

a

<
gl

ol
S
Al
o
<+
Y

® 14 @ 16 ® 21

@7



o, 7}

5}
=

Ak §atag R dehfolzite

42
— X
98

20.

e

@7 @ 8 @ 9 ® 10

@D 6



0.84

@ 0.8444---

1.7

@ 1.727272---

2.123

@ 2.123123---

0.30

@ 0.3030---

1.246

® 1.246246- - -



22.

2 JEhy W, 0.72222- -

o uf, A% x 2] 7

@ 11 @ 13 G 17



ol
iS¢
o|J
o8

ol
Nfo

op

@ 5=4.90

® 0.4=0.39

2.9

@ 3

® —-0.7 = -0.69

@ -2.7=-2.69



24. ©= T 25d of 50 A A o] A 7 A2 A2?

@D 0.9 @ 0.27 ® 0.125 @ 2.345 ® 2.743



sholat

g7

ot 500 A A} 2] S=2t

]
™

2~
an

d

-

Ul



26.

A

g

i

> L

rlo g

=
K<)
9

@ 10x-x

@ 1000x — 10x

X

0.26 & B2 ey g

@ 100x - x ®

® 1000x — 100x

100x — 10x



27.

D 0.521

@ 0.521

® 5.21

2]

o, 1000x — x7} 7V B

@ 5.21 ® 5.521



28. x=1.32% u, 100x - 10x 2] Ff= Tt}

5
3%



ol
LS
o|J
o8

37
90

® 0.37



1
ZO]E}- olmf, a - b O] F22(H, 2<a<10)

® 5

@ 1

@ -9

@ -11



